Lt R OV _E D Be s = L 0Bk B % CFR%304F4 H 1 H BifE)

TTBURk R (—)

_— ﬁﬁ@@@@%%aﬁiﬁﬁé & WE Bkl B o> Bt
RHELTR DI A | o) T4, WL oo | @ | e
EHEOBE T 24
1#% tﬁﬁ‘ﬁ’rﬁﬂ%&ﬁ@a‘ziﬂﬁif%ﬁi(jE%)@ 44 17.3
s e L 20
65 | 25.5 E=F 4
EXERA) 7 EER 13
2%k | T EUIRE L (EE) 0| 21 | 8.2
s RE L 8
T 45
R E XX EEORE R 44
3tk [HAeHBEORE . B8R IR E L (@] 101 | 39.6 101 | 39.6 PRk
= UL FARARE £2) DR RE+ 6
FEREF L 6
AR AR OB AR A 34
4% | EME X MEE (@& | 39 | 15.3 39 | 15.3 | FREAMHIEML
£) ORESS RERE 5
Eecd 8
iR 18
AR T ER O RS
58k |HSCHEEIDRE . T8 IR OE | 31 | 12.2 |[&EHEmE 1 31 | 12.2 ARk
DR
FRGREE R 1
RERE 3
N W& 6
., W DRk g
6% " N e 10 3.9 10 3.9 IR E %
URE D i Ek DR DRSS ~
H e BE D Bt % DR e DRk S — A
& 4
R 2
Y i}Slé“X&i%KE@HA&}% 26 A e hva Y
ik H S BA O 2 OB O TS 9 3.5 |EmaFHRE 1 9 3.5 eSS
RELHEFS TR 1
B 1
&t 255 | 100.0

A [ATHRE B D A5 5\ B2 50 CRUE 3 oMkl IR ER 5 212 8%




B A ok 22 (2)

_— ;&E%%ﬁgﬁggagéggfé &5t WE Kk oo B
RSP DS A | o) T4, WL oo | @ | e
Ltk | BHERIORRES 5 62.5 |F&#Rh 5
7 87.5 E=F 4
2%k |EERD (EE) ORRYS 2 25.0 |FEEm 2
3tk |FEER () OIS 1 12.5 |&&Rm 1 1 12.5 FREAk
4tk |FE RN (EHEME) ORES 0 0.0 0 0.0
&t 8 |100.0
S T EL 8 51 B2 2 L 3 B SR 2212 1%
Sab LT GYS e
st %&%[J%i’%ﬂ%f’%i%@%iﬁj—é &t N Tk thl] oD B e
HHELTR DS A | o) 4, WL oo| @ | e
XHEE 1
H B s T, B B R UHBAD ERE 1
Hgﬂéa;gé&ﬂéﬁ EEHERGLE B
P Hi JeekBE oD EIR T, B A, e
VW e, e, e, mm | 8 | 889 B 2
Ay KB R—L b 3— R ONFE -
B ORRES THEE 2
(ESLIPN 2
SR RCL=E 1
H %ﬁﬁﬁﬁii\ FAEE A B N O E(T
5 B DR 9 |100.0| 1mES
e 1 R A
! B, FTRBE ., FEHEIiE ., B2EX ’
e, FEA—2b o — FHEA &
(OGN =)
s |EfEE B Om o | oo
! EARFHBRRT M O AT H B O )
At 9 |100.0

AR [T B2 55 5\ F SV DI B D #G -2 O LD 5 S B3 2 BRI CHUE §- 2B IS 1y R I kD




